10

H20 70 ( )1

4 HI8 | 11pg [ H20 | ggol 131 027 -
H19 48

2 Hig | 119 1 a0 n I 2 026 -
H19 35

3 Hig | 119 1 a0 < 0.31ha -

4 H18 | H19 | H20 60| 74 0.30ha -

5 H18 | H20 | H20 go| 105 0.29ha -
H15 735

6 Hiz | o oo | 7351 g6 156ha 1 H17
H19 733 15085ha 2

7 Hi5 | H19 | H2o | 77| 479 8735m -
H20 600 7112.8m

35.36ha

8 H19 | H20 | H20 8 48,q -
H16 2281 1 25

9 S51 | H18 | H20 | 2626] 1,949 e | His
H20 1862 165.

1115m
10 HIS |H19 |H20 | 346 264 g, o -
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H19 800
1 His | 191 oo | 8001 740 4,226m -
12 H13 | H21 | H20 | 12000 1138 L=5,074m H18
13 Hi5 | H20 | W20 | 435|475 L=1901m -
14 Hi9 | H2o |H20 | 20| 20 1 -
H20 634 3
15 Hae | F20 L koo | 834 5og A=44.7ha -
L=500m
A=14480 (2)
H20 919 A=27165
16 HIS 1 hao | H20 | gg| 62 A5726 ()|
A=8,100
N=13  (
17 17|H0| 20| 180 192 1,390 -
18 17|H0| 20| 170 189 2,569 -
19 18| H2t| 20| 127] 134 1,443 -
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H19 1,400
20 1| hie| 20| Tag 15 5,376 16
21 15| M9 | 20| 208 248 748 -
2 17|H0| 20| 3200 327 1714 -
2 Hi7 [ H21 |H20 | 102|107 = 135ha -
2 His | H2o |H20 | 161 156 | 232ha -
2 H20 | H20 | H20 18] 18 |- 22sha -
= 81.3ha
2% Hi6 | H2o | H2o | 26| 225 T o -
- 106ha
27 Hi6 | H2o | H2o | 240 266 i -
= 26.9ha
28 Wi | H2o |H20 | 54l 54 T -




10

29 H19 | H20 | H20 95 95 N 45.0ha -
44m 260m
-2m  2,055m2
H17 1,050 -2m 95m 960.9m
30 HI3 | o1 | H20 | 1530|972 11 685m2 H18
6,856m2
13ha
1 150m
31 H18 | H21 | H20 640 478 5o -
32 H19 | H20 | H20 148| 148 110m -
120m
W=5.0m
R=20m L=1,177
33 H8 | H22 | H20 707|831 Wetd 90 H17
L=90m L=90m
34 H15 | H19 | H20 | 5600| 4450 121 140m -
35 S60 | H20 | H20 580 587 Lt L=128m | g
L=504m
L=1,540m
36 H8 | H20 | H20 345\ 346 V5.400M3 H19
37 H17 | H20 | H20 180 230 N -
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38 H18 [ H20 | H20 110 100
39 H17 | H21 | H20 200 165
40 H18 [ H20 | H20 120 164
41 H15 [ H21 | H20 352 351
42 H18 [ H20 | H20 130 167
43 H19 | H21 | H20 170 107 L=83.0m
44 H17 | H20 | H20 280 286 L=43.2m
45 H15 [ H21 | H20 150 134 L=25.0m
46 H19 [ H20 | H20 55 105 L=61.0m
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47 H18 | H20 | H20 150 120 L=57.8m

48 H18 | H21 | H20 110 100 L=209.5m

49 H18 | H22 | H20 110 87 L=226.9m

50 H15 | H22 | H20 139 81 L=229.4m

51 H16 | H21 | H20 90 20 L=67.0m

52 H18 | H20 | H20 19 22

53 H17 | H20 | H20 61 56 L=71.2m
341

54 H14 :%213 H20 Zég 410

L=21m




